Metal carport OWNER'S MANUAL

Size 12 Ft X 19 Ft






PARTS LIST

PARTS LIST

A

K

 —
Y

S

0

2

o)
an

O

GB

1

O
O

Z

G

1

A
ES

E

1

B6
B/

1

1

A2

A

-

1

=

O

“
N
-,
O)| v
O O

1 C1 1 F2 1
AS |1 jc |1 R |1

A3
A4

L1
O

several
several
several
several
seve raI

spare screws,use this
screw when other
screws can't flt

screwdriver
specification

Gloves

QN | | | | 1/ O|v— |
W123455667899111
O 2222222222222 =22

—| N | — | || AN ¥~

N N | W0 ™ | N
—
_
Ol — | O\l M| <T
(™| ™| ™[ ™| v— | OJ| N 4 LN
I ]| |||

A6 | 1 €31 1 [ F4 | 1
A7 | 1 |C42| 1 | F5 | 1
A8 | 1 |C5 | 1 | F6 | 1
---

02

01



03

Warning & Attention:

-Take care of sharp edges; Please wear gloves;
-You are advised to read the whole procedure before installing it;

-Try to assemble this product on the flat ground, otherwise it is difficult
tocarry ouft,

-It would be much easier to assemble the product with three or morepeople;

-All panels are clearly marked and care should be taken to use the bcorrect
one. It Is Important that these instructions are followed step by step;

-Each screw has a surplus quantity, which can be used In reserve;

-After assembly, please check whether all screws are tightened, to
preventparts from falling apart.

Tools:

Gloves

e

Electric drill Phillips screwdriver

&

Safety Helmet Hat goggles

Notice: ==

As shown in the picture, connect the two adjacent parts and fix them with F1.

2 Position Secure F6 to the ground




05

Notice:
As shown In the picture, connect the two adjacent parts and fix them with F1.

2 Position Secure F6 to the grounad

~

]
-
5 =
a

\

1%

As shown in the picture, connect the two adjacent parts and fix them with F1.

Notice:

06



07

Notice:
As shown In the picture, connect the two adjacent parts and fix them with F1.

2 Position Secure F6 to the grounad

Notice:

As shown In the figure, link the two adjacent parts and fix them with F1.




Notice:
As shown In the picture, connect the two adjacent parts and fix them with F1.

2 Position Secure F6 to the grounad

09

Notice:

As shown In the figure, link the two adjacent parts and fix them with F1.




11

Notice:
Fix the M11 ends to the top with F1 as shown.

Notice:
1 Instructions: As shown in the figure, use F1 to install L1 and L2 to the top.

2 Description: As shown In the picture, use F1 to fix L1 installation to the inner hole.

12



Q2

o Q1 B= Q1
| 1 I |

Notice:
1 Description: Use F3 to connect L1L and L1R.

2 Instructions: Put the connected L1L and L1R into the position of 2 and fix it with F1.
(Insert the connected L1L and L1R under L1, with L1 on top, as shown). As shown in the figure, assemble the wall tiles Q1 and Q3 successively, top, middle and bottom

3 Note: Install the connected L1L and L1R in the corresponding positions according to the hole positions,
as shown in the figure.

Notice:

The tiles on the wall need to be screwed on with F1.




| |-- ]
| i B -
i I A\ 4
| ||
(|
| ||I

Trrrrrrrieeetd VT
I O = ] | 1 O O

L,

Notice: Notice:

As shown in the picture, the steps of door frame and wall tile installation are the same. Install Q4 sequentially, overlapping every 2 pieces, each Q4 needs 3 rows of screws,

Screws are required for the upper, middle and lower parts of KR and KL and are fixed with F1. 1 and 2 positions with F1, 3 positions with F7.




@

fixed with F1, GE finally fixed with F1,

GB2 and J1 common holes are fixed with F1.

!

fix GB2 and GB3 to the side edge with F1.

I

!

Step 2: GW1 (GW2) and GB1 common hole positions
Step 3: GB1

Step 1: As shown In the picture

Notice:

connect GW1 and GW2 with F1 and fix them to the roof.

I

As shown In the picture

Notice:

17



N !

H |
-
-~

M2
+ . s s L a .
~ =~ o~
& - 2 \ .
\
\ \
\ \
| |
. | . .
\ /
/

Notice: T T | - -
: : ., L : . : Notice:

As shown in the picture, it is the inside of the door. After placing the parts according to the drawing, : . e & . : . ,
Screw F4 through the four corners of the door and screw F3 through the middle of both sides of the window ésrzr\:\/o%ntlhnréte E 'fﬁzrfé:;'esr:h; It?mseld deo?)frtah: ddt?]zr;nﬁi\gtg;‘epé?cgg%htz%gsartS according to the drawing,
Instructions: Place M7 and M12 in position 1 and fix them with F4 nuts, as shown in Figure 1. i R e .. » : . -

NPT . : : " . Instructions: Place M7 and M12 in position 1 and fix them with F4 nuts, as shown in Figure 1.
£ CRSSCTIPRICE PG TR T3 (T S5 EA A P15 To0 2t T EiS BROWSRENT 2, I RIGUNT It TG = 2 Instructions for use: In the other position, put the other end of M7 and M12 into the nut of F4 to secure
3 Instructions for use: In the other position, put the other end of M7 and M12 into the nut of F4 to secure. ' P P '

As shown in Figure 3. As shown In Figure 2.




Notice:

As shown in the picture, it is the inside of the door. After laying out the parts according to the drawings,
Thread the F4 screw through the four corners of the door and F3 through the middle of the two sides

1 Instructions: Place M10 in position 1 and fix it with F4 nut, as shown in Figure 1.

2 Description: After fixing the F3 nut, use F1 to fix X1 in the position of 2, as shown in Figure 2.

3 Instructions for use: In another position, fasten the other end of the M10 into the nut of F4.

As shown in Figure 3. As shown in the picture, use F1 and F2to fix SK and H1 to the shed.

Notice:




SK and H1 to the shed.

IX

use F1and F2to f

I

Icture

ICE

As shown In the p

Not










